ISSN: 1017-060X (Print)



ISSN: 1735-8515 (Online)

Bulletin of the Iranian Mathematical Society

Vol. 41 (2015), No. 6, pp. 1401–1412

Title:

Some properties for a class of meromorphically multivalent functions with linear operator

Author(s):

X. Li and L. Xiong

Published by Iranian Mathematical Society http://bims.irs.ir

SOME PROPERTIES FOR A CLASS OF MEROMORPHICALLY MULTIVALENT FUNCTIONS WITH LINEAR OPERATOR

X. LI * AND L. XIONG

(Communicated by Ali Abkar)

ABSTRACT. Making use of a linear operator, which is defined here by means of the Hadamard product (or convolution), we define a subclass $\mathcal{T}_p(a,c,\gamma,\lambda;h)$ of meromorphically multivalent functions. The main object of this paper is to investigate some important properties for the class. We also derive many results for the Hadamard products of functions belonging to the class.

Keywords: Meromorphically multivalent functions, convex univalent functions, Hadamard product, subordination.

MSC(2010): Primary: 30C45; Secondary: 26D15.

1. Introduction

Let Σ_p denote the class of meromorphically multivalent function f(z) of the form

(1.1)
$$f(z) = z^{-p} + \sum_{n=1}^{\infty} a_n z^{n-p} \ (n \in \mathbb{N} = \{1, 2, 3, \dots\}),$$

which are analytic in the punctured open unit dis $U^* = \{z \in \mathbb{C} : 0 < |z| < 1\} = U \setminus \{0\}$. For functions $f(z) \in \Sigma_p$ given by (1.1) and $g(z) \in \Sigma_p$ given by

$$g(z) = z^{-p} + \sum_{n=1}^{\infty} b_n z^{n-p} \ (n \in \mathbb{N}),$$

we define the Hadamard product (or convolution) of f(z) and g(z) by

$$(f * g)(z) = z^{-p} + \sum_{n=1}^{\infty} a_n b_n z^{n-p} \ (n \in \mathbb{N}).$$

Article electronically published on December 15, 2015.

Received: 6 September 2013, Accepted: 22 August 2014.

^{*}Corresponding author.

Let the function $\varphi_p(a,c;z)$ be defined by

(1.2)
$$\varphi_p(a,c;z) = z^{-p} + \sum_{n=1}^{\infty} \frac{(a)_n}{(c)_n} z^{n-p},$$

where $(a)_n = a(a+1)\cdots(a+n-1), n \in \mathbb{N}$. Corresponding to the function $\varphi_p(a,c;z)$, Liu [6] and Liu and Srivastava [7] have introduced a linear operator $\mathcal{L}_p(a,c)$ which is defined by means of the following Hadamard product (or convolution)

(1.3)
$$\mathcal{L}_{p}(a,c)f(z) = \varphi_{p}(a,c;z) * f(z) \ (f(z) \in \Sigma_{p}).$$

Just as in [6] and [7], it is easily verified from the definitions (1.2) and (1.3) that

$$z(\mathcal{L}_p(a,c)f(z))' = a\mathcal{L}_p(a+1,c)f(z) - (a+p)\mathcal{L}_p(a,c)f(z).$$

The operator $\mathcal{L}_p(a,c)$ is also studied by many authors(see examples in [11,12], [14]. We note, for any integer n > -p and for $f(z) \in \Sigma_p$, that

$$\mathcal{L}_p(n+p,1)f(z) = D^{n+p-1}f(z) = \frac{1}{z^p(1-z)^{n+p}} * f(z),$$

where D^{n+p-1} is the differential operator studied by (for detail, see [2, 4, 5]) Uralegaddi and Somanatha [13] and Aouf [1].

Let

(1.4)

$$\mathcal{F}_{p,a,c,\gamma}f(z) = (1-\gamma)\mathcal{L}_p(a,c)f(z) + \frac{\gamma}{p}z(\mathcal{L}_p(a,c)f(z))' \ (f \in \Sigma_p; 0 \le \gamma < \frac{1}{2}).$$

The operator $\mathcal{F}_{p,a,c,\gamma}$ is introduced by Aouf [3] . We easily obtain that

(1.5)
$$\mathcal{F}_{p,a,c,\gamma}f(z) = (1 - 2\gamma)z^{-p} + \sum_{n=1}^{\infty} \left(1 - \gamma + \gamma \frac{n-p}{p}\right) \frac{(a)_n}{(c)_n} a_n z^{n-p}$$

since $f(z) \in \Sigma_p$ is given by (1.1). From (1.5), it is easily verified that

(1.6)
$$\mathcal{F}_{p,a,c,0}f(z) = \mathcal{L}_p(a,c)f(z),$$

and

(1.7)

$$z(\mathcal{F}_{p,a,c,\gamma}f(z))' = a\mathcal{F}_{p,a+1,c,\gamma}f(z) - (a+p)\mathcal{F}_{p,a,c,\gamma}f(z) = \mathcal{F}_{p,a,c,\gamma}(zf'(z)).$$

Let Ω be the class of functions h(z) with h(0) = 1, which are analytic and convex univalent in the open unit disk U. For functions f(z) and g(z) analytic in U, we say that f(z) is subordinate to g(z), written $f(z) \prec g(z)$, if g(z) is univalent in U, f(0) = g(0) and $f(U) \subset g(U)$.

Let \mathcal{A} be the class of functions of the form

(1.8)
$$h(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$

which are analytic in U. A function h(z) is said to be in the class $S^*(\alpha)$, if

$$Re\left\{\frac{zh'(z)}{h(z)}\right\} > \alpha \ (z \in U)$$

for some α ($\alpha < 1$). When $0 \le \alpha < 1, S^*(\alpha)$ is the class of starlike functions of order α in U. A function $h(z) \in \mathcal{A}$ is said to be prestarlike of order α in U, if

$$\frac{z}{(1-z)^{2(1-\alpha)}} * h(z) \in S^*(\alpha) \ (\alpha < 1).$$

We denote this class by $R(\alpha)$ (see [9]). A function $h(z) \in \mathcal{A}$ is in the class R(0) if and only if h(z) is convex univalent in U and

$$R(\frac{1}{2}) = S^*(\frac{1}{2}).$$

In this paper, we introduce and investigate the following subclass of Σ_p .

Definition 1.1. A function $f(z) \in \Sigma_p$ is said to be in the class $\mathcal{T}_p(a, c, \gamma, \lambda; h)$ if it satisfies the subordination condition

$$(1.9) \qquad (1+\lambda) \frac{1}{1-2\gamma} z^p \mathcal{F}_{p,a,c,\gamma} f(z) + \frac{\lambda}{p} \frac{1}{1-2\gamma} z^{p+1} (\mathcal{F}_{p,a,c,\gamma} f(z))' \prec h(z),$$

where $0 \le \gamma < \frac{1}{2}, \lambda \in \mathbb{C}, h(z) \in \Omega$.

The special class $\mathcal{T}_p(a, c, 0, \lambda; h) = \mathcal{M}_p(a, c, \lambda; h)$ was investigated by Yang and Liu [15]. In order to prove our main results, we need the following lemmas.

Lemma 1.2. (see [4]) Let g(z) be analytic in U and h(z) be analytic and convex univalent in U with h(0) = g(0). If

(1.10)
$$g(z) + \frac{1}{\mu} z g'(z) < h(z),$$

where $Re \mu \geq 0$ and $\mu \neq 0$, then

$$g(z) \prec \tilde{h}(z) = \mu z^{-\mu} \int_0^z t^{\mu - 1} h(t) dt \prec h(z),$$

and $\tilde{h}(z)$ is the best dominant of (1.10).

Lemma 1.3. (see [9])Let $\alpha < 1$, $f(z) \in S^*(\alpha)$ and $g(z) \in R(\alpha)$. Then, for any analytic function F(z) in U,

$$\frac{g*(fF)}{g*f}(U) \subset \overline{co}(F(U)),$$

where $\overline{co}(F(U))$ denotes the convex hull of F(U).

2. Main results

In this section, we obtain some results of $\mathcal{T}_p(a, c, \gamma, \lambda; h)$. The first set of inclusion relationships are given below.

2.1. Inclusion relations.

Theorem 2.1. Let $0 \le \lambda_1 < \lambda_2$, then

$$\mathcal{T}_p(a, c, \gamma, \lambda_2; h) \subset \mathcal{T}_p(a, c, \gamma, \lambda_1; h).$$

Proof. Let $0 \le \lambda_1 < \lambda_2$, and suppose that

(2.1)
$$H(z) = \frac{1}{1 - 2\gamma} z^p \mathcal{F}_{p,a,c,\gamma} f(z)$$

for $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda_2; h)$. Then the function H(z) is analytic in U with H(0) = 1. Differentiating both sides of (2.1) with respect to z and using (1.7), we have

(2.2)

$$H(z) + \frac{\lambda_2}{p} z H'(z) = (1 + \lambda_2) \frac{1}{1 - 2\gamma} z^p \mathcal{F}_{p,a,c,\gamma} f(z) + \frac{\lambda_2}{p} \frac{1}{1 - 2\gamma} z^{p+1} (\mathcal{F}_{p,a,c,\gamma} f(z))' \prec h(z).$$

From Lemma 1.2 with $\mu = \frac{p}{\lambda_2} > 0$, we get

$$(2.3) H(z) \prec h(z).$$

Noting that $0 \le \frac{\lambda_1}{\lambda_2} < 1$ and that H(z) is convex univalent in U, it follows from (2.1)-(2.3) that

$$(1+\lambda_1)\frac{1}{1-2\gamma}z^p \mathcal{F}_{p,a,c,\gamma}f(z) + \frac{\lambda_1}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))'$$

$$= \frac{\lambda_1}{\lambda_2} \left[(1+\lambda_2)\frac{1}{1-2\gamma}z^p \mathcal{F}_{p,a,c,\gamma}f(z) + \frac{\lambda_2}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))' \right]$$

$$+ (1-\frac{\lambda_1}{\lambda_2})H(z) \prec h(z).$$

Thus,
$$f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda_1; h)$$
.

Theorem 2.2. Let

(2.4)
$$\operatorname{Re}\left\{z^{p}\varphi_{p}(a_{1}, a_{2}; z)\right\} > \frac{1}{2} \ (z \in U; a_{2} \neq \{0, -1, -2, \ldots\}),$$

where $\varphi_p(a_1, a_2; z)$ is defined as in (1.2). Then,

$$\mathcal{T}_p(a_2, c, \gamma, \lambda; h) \subset \mathcal{T}_p(a_1, c, \gamma, \lambda; h).$$

Proof. For $f(z) \in \Sigma_p$, we can easily verify that

(2.5)
$$\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a_{1},c,\gamma}f(z) = (z^{p}\varphi_{p}(a_{1},a_{2};z)) * (\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a_{2},c,\gamma}f(z)),$$

and

$$(2.6) \frac{1}{1 - 2\gamma} z^{p+1} (\mathcal{F}_{p,a_1,c,\gamma} f(z))' = (z^p \varphi_p(a_1, a_2; z)) * (\frac{1}{1 - 2\gamma} z^{p+1} (\mathcal{F}_{p,a_2,c,\gamma} f(z))').$$

We suppose $f(z) \in \mathcal{T}_p(a_2, c, \gamma, \lambda; h)$, then from (2.5) and (2.6), we deduce that

$$(1+\lambda)\frac{1}{1-2\gamma}z^p\mathcal{F}_{p,a_1,c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a_1,c,\gamma}f(z))' = (z^p\varphi_p(a_1,a_2;z))*\Psi(z),$$

where

(2.8)

$$\Psi(z) = (1+\lambda) \frac{1}{1-2\gamma} z^p \mathcal{F}_{p,a_2,c,\gamma} f(z) + \frac{\lambda}{p} \frac{1}{1-2\gamma} z^{p+1} (\mathcal{F}_{p,a_2,c,\gamma} f(z))' \prec h(z).$$

In view of (2.4), the function $z^p \varphi_p(a_1, a_2; z)$ has the Herglotz representation

(2.9)
$$z^{p}\varphi_{p}(a_{1}, a_{2}; z) = \int_{|x|=1} \frac{d\mu(x)}{1 - xz} \ (z \in U),$$

where $\mu(x)$ is a probability measure defined on the unit circle |x|=1 and

$$\int_{|x|=1} d\mu(x) = 1.$$

Since h(z) is convex univalent in U, it follows from (2.7)-(2.9) that

$$(1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a_{1},c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a_{1},c,\gamma}f(z))' = \int_{|x|=1} \Psi(xz)d\mu(x) d\mu(z).$$

This shows that $f(z) \in \mathcal{T}_p(a_1, c, \gamma; h)$, and the proof of Theorem 2.2 is completed.

Theorem 2.3. Let $0 < a_1 < a_2$. Then,

$$\mathcal{T}_n(a_2,c,\gamma,\lambda;h) \subset \mathcal{T}_n(a_1,c,\gamma,\lambda;h).$$

Proof. Define

$$w(z) = z + \sum_{n=1}^{\infty} \frac{(a_1)_n}{(a_2)_n} z^{n+1} \ (z \in U; 0 < a_1 < a_2).$$

Then,

$$(2.10) z^p \varphi_p(a_1, a_2; z) = w(z) \in \mathcal{A},$$

where $\varphi_p(a_1, a_2; z)$ is defined as in (1.2), and

(2.11)
$$\frac{z}{(1-z)^{a_2}} * w(z) = \frac{z}{(1-z)^{a_1}}.$$

By (2.11), we have

$$\frac{z}{(1-z)^{a_2}} * w(z) \in S^*(1-\frac{a_1}{2}) \subset S^*(1-\frac{a_2}{2})$$

for $0 < a_1 < a_2$, which implies that

(2.12)
$$w(z) \in R(1 - \frac{a_2}{2}).$$

Let $f(z) \in \mathcal{T}_p(a_2, c, \gamma, \lambda; h)$. Then we deduce from (2.7) and (2.8) (used in the proof of Theorem 2.2) and (2.10) that

(2.13)
$$(1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a_{1},c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a_{1},c,\gamma}f(z))'$$

$$= \frac{w(z)}{z} * \Psi(z) = \frac{w(z) * (z\Psi(z))}{w(z) * z},$$

where

(2.14)
$$\Psi(z) = (1+\lambda) \frac{1}{1-2\gamma} z^p \mathcal{F}_{p,a_2,c,\gamma} f(z) + \frac{\lambda}{p} \frac{1}{1-2\gamma} z^{p+1} (\mathcal{F}_{p,a_2,c,\gamma} f(z))' \prec h(z).$$

Since the function z belongs to $S^*(1-\frac{a_2}{2})$ and h(z) is convex univalent in U, it follows from (2.12) and (2.13) and Lemma 1.3 that

$$(1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a_{1},c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a_{1},c,\gamma}f(z))' \prec h(z).$$

Thus, $f(z) \in \mathcal{T}_p(a_1, c, \gamma, \lambda; h)$ and the proof is completed.

As a special case of theorem 2.3 , we have $\mathcal{T}_p(a+1,c,\gamma,\lambda;h)\subset\mathcal{T}_p(a,c,\gamma,\lambda;h)$ for a>0.

Theorem 2.4. Let Re $a \ge 0$ and $a \ne 0$. Then

$$\mathcal{T}_p(a+1,c,\gamma,\lambda;h) \subset \mathcal{T}_p(a,c,\gamma,\lambda;\tilde{h})$$

where

$$\tilde{h}(z) = az^{-a} \int_0^z t^{a-1} h(t) dt \prec h(z).$$

Proof. Define

$$(2.15) g(z) = (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))'$$

for $f(z) \in \Sigma_p$. From (1.7) and (2.15), we obtain

(2.16)
$$\frac{1}{1-2\gamma}\mathcal{F}_{p,a+1,c,\gamma}f(z) + (p-a\lambda)\frac{1}{1-2\gamma}\mathcal{F}_{p,a,c,\gamma}f(z).$$

Differentiating both sides of (2.16) and using (2.13), we arrive at

(2.17)
$$\frac{1}{1-2\gamma}pz^{-p}\left[zg'(z)-pg(z)\right] = a\lambda \frac{1}{1-2\gamma}z(\mathcal{F}_{p,a+1,c,\gamma}f(z))' + (p-a\lambda)\frac{1}{1-2\gamma}\left[a\mathcal{F}_{p,a+1,c,\gamma}f(z)-(a+p)\mathcal{F}_{p,a,c,\gamma}f(z)\right].$$

By (2.16) and (2.17), we have

$$pz^{-p}(zg'(z) + ag(z)) = a\lambda z \frac{1}{1 - 2\gamma} (\mathcal{F}_{p,a+1,c,\gamma} f(z))' + ap(1 + \lambda) \frac{1}{1 - 2\gamma} \mathcal{F}_{p,a+1,c,\gamma} f(z),$$

that is,

(2.18)
$$g(z) + \frac{z}{a}g'(z) = (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a+1,c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a+1,c,\gamma}f(z))'.$$

If $f(z) \in \mathcal{T}_p(a+1, c, \gamma, \lambda; h)$, then it follows from (2.18) that

$$g(z) + \frac{z}{a}g'(z) \prec h(z) \ (Re \ a \ge 0, a \ne 0).$$

Hence an application of Lemma 1.2 yields

$$g(z) \prec \tilde{h}(z) = az^{-a} \int_0^z t^{a-1} h(t) dt \prec h(z),$$

which shows that $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; \tilde{h}) \subset \mathcal{T}_p(a, c, \gamma, \lambda; h)$.

Theorem 2.5. Let $\lambda > 0, \beta > 0$ and $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; \beta h + 1 - \beta)$. If $\beta \leq \beta_0$, where

(2.19)
$$\beta_0 = \frac{1}{2} \left(1 - \frac{p}{\lambda} \int_0^1 \frac{u^{\frac{p}{\lambda} - 1}}{1 + u} du \right)^{-1},$$

then $f(z) \in \mathcal{T}_p(a,c,\gamma,0;h)$. The bound β_0 is sharp when $h(z) = \frac{1}{1-z}$.

Proof. Define

(2.20)
$$g(z) = \frac{1}{1 - 2\lambda} z^p \mathcal{F}_{p,a,c,\gamma} f(z),$$

for $f(z) \in \mathcal{T}_p(a,c,\gamma,\lambda;\beta h+1-\beta)$ with $\lambda > 0,\beta > 0$. Then we have

$$g(z) + \frac{\lambda}{p} z g'(z) = (1+\lambda) \frac{1}{1-2\lambda} z^p \mathcal{F}_{p,a,c,\gamma} f(z)$$

$$+\frac{\lambda}{p}\frac{1}{1-2\lambda}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))' \prec \beta h(z) + 1 - \beta.$$

Hence an application of Lemma 1.2 yields

$$(2.21) g(z) \prec \tilde{h}(z) = \frac{p}{\lambda} z^{-\frac{p}{\lambda}} \int_0^z t^{\frac{p}{\lambda} - 1} (\beta h(t) + 1 - \beta) dt$$
$$= \frac{p\beta}{\lambda} z^{-\frac{p}{\lambda}} \int_0^z t^{\frac{p}{\lambda} - 1} h(t) dt + 1 - \beta = (h * \Psi)(z),$$

where

(2.22)
$$\Psi(z) = \frac{p\beta}{\lambda} z^{-\frac{p}{\lambda}} \int_0^z \frac{t^{\frac{p}{\lambda}-1}}{1-t} dt + 1 - \beta.$$

If $0 < \beta \le \beta_0$, where $\beta_0 > 1$ is given by (2.19), then it follows from (2.22) that

$$Re\Psi(z) = \frac{p\beta}{\lambda} \int_0^1 u^{\frac{p}{\lambda} - 1} Re \ (\frac{1}{1 - uz}) du + 1 - \beta > \frac{p\beta}{\lambda} \int_0^1 \frac{u^{\frac{p}{\lambda} - 1}}{1 + u} du + 1 - \beta \ge \frac{1}{2}.$$

By using the Herglotz representation for $\Psi(z)$, from (2.20) and (2.21), we arrive at

$$g(z) = \frac{1}{1-2\lambda} z^p \mathcal{F}_{p,a,c,\gamma} f(z) \prec (h * \Psi)(z) \prec h(z),$$

because h(z) is convex univalent in U. This shows that $f(z) \in \mathcal{T}_p(a,c,\gamma,0;h)$. For $h(z) = \frac{1}{1-z}$ and $f(z) \in \Sigma_p$ defined by

$$\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z) = \frac{p\beta}{\lambda}z^{-\frac{p}{\lambda}} \int_{0}^{z} \frac{t^{\frac{p}{\lambda}-1}}{1-t}dt + 1 - \beta,$$

it is easy to verify that

$$(1+\lambda)\frac{1}{1-2\gamma}z^p\mathcal{F}_{p,a,c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))' = \beta h(z) + 1 - \beta.$$

Thus, $f(z) \in \mathcal{T}_p(a, c, \gamma, 0; \beta h + 1 - \beta)$. Also, for $\beta > \beta_0$, we have

$$Re\left\{\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z)\right\} \to \frac{p\beta}{\lambda}\int_{0}^{1}\frac{u^{\frac{p}{\lambda}-1}}{1+u}du + 1 - \beta < \frac{1}{2}\ (z \to -1),$$

which implies that $f(z) \notin \mathcal{T}_p(a,c,\gamma,0;h)$. Hence the bound β_0 cannot be increased when $h(z) = \frac{1}{1-z}$.

2.2. Convolution properties.

Theorem 2.6. Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$, $g(z) \in \Sigma_p$ and $Re\{z^p g(z)\} > \frac{1}{2}$ $(z \in U)$. Then

$$(f * g)(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h).$$

Proof. For $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$ and $g(z) \in \Sigma_p$, we have

$$(2.23) (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}(f*g)(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}(f*g)(z))'$$

$$= (1+\lambda)(z^{p}g(z))*(\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z)) + \frac{\lambda}{p}(z^{p}g(z))*(\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))')$$

$$= (z^{p}g(z))*(\Psi(z)),$$

where

(2.24)

$$\Psi(z) = (1+\lambda) \frac{1}{1-2\gamma} z^p \mathcal{F}_{p,a,c,\gamma} f(z) + \frac{\lambda}{p} \frac{1}{1-2\gamma} z^{p+1} (\mathcal{F}_{p,a,c,\gamma} f(z))' \prec h(z).$$

The remaining part of the proof of Theorem 2.6 is similar to that of Theorem 2.2.

Corollary 2.7. Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$ be given by (1.1) and let

$$s_m(z) = z^{-p} + \sum_{n=1}^{m-1} a_n z^{n-p} \ (m \in \mathbb{N} \setminus \{0\}).$$

Then the function

$$\sigma_m(z) = \int_0^1 t^p s_m(tz) dt$$

is also in the class $\mathcal{T}_p(a, c, \gamma, \lambda; h)$.

Proof. we easily obtain that

(2.25)
$$\sigma_m(z) = z^{-p} + \sum_{n=1}^{m-1} \frac{a_n}{n+1} z^{n-p} = (f * g_m)(z),$$

where

$$f(z) = z^{-p} + \sum_{n=1}^{m-1} a_n z^{n-p} \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$$

and

$$g_m(z) = z^{-p} + \sum_{n=1}^{m-1} \frac{1}{n+1} z^{n-p} \in \Sigma_p.$$

It is known from [10] that

(2.26)
$$Re\{z^{p}g_{m}(z)\} = Re\left\{1 + \sum_{n=1}^{m-1} \frac{1}{n+1}z^{n-p}\right\} > \frac{1}{2}.$$

In view of (2.25) and (2.26), an application of Theorem 2.6 leads to $\sigma_m(z) \in \mathcal{T}_p(a,c,\gamma,\lambda;h)$.

Theorem 2.8. Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h), g(z) \in \Sigma_p \text{ and } z^{p+1}g(z) \in R(\alpha) \ (\alpha < 1)$. Then

$$(f * g)(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h).$$

Proof. For $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$, and $g(z) \in \Sigma_p$, from (2.23) we have

$$(2.27) \qquad (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}(f*g)(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}(f*g)(z))'$$

$$= \frac{(z^{p+1}g(z))*(z\Psi(z))}{(z^{p+1}g(z))*z},$$

where $\Psi(z)$ is defined as in (2.24). Since h(z) is convex univalent in U,

$$\Psi(z) \prec h(z), z^{p+1}g(z) \in R(\alpha), z \in S^*(\alpha) \ (\alpha < 1).$$

From (2.28) and Lemma 1.3 the desired result follows.

Taking $\alpha = 0$ and $\alpha = \frac{1}{2}$, Theorem 2.8 reduces to the following.

Corollary 2.9. Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$, and let $g(z) \in \Sigma_p$ satisfy either of the following conditions:

 $(1)z^{p+1}g(z)$ is convex univalent in U or $(2)z^{p+1}g(z) \in R(\frac{1}{2}).$

Then $(f * g)(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$.

2.3. Integral operators.

Theorem 2.10. Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$. Then the function F(z) defined by

(2.28)
$$F(z) = \frac{\mu - p}{z^{\mu}} \int_{0}^{z} t^{\mu - 1} f(t) dt \ (Re \ \mu > p)$$

is in the class $\mathcal{T}_p(a,c,\gamma,\lambda;\tilde{h})$, where

$$\tilde{h}(z) = (\mu - p)z^{-(\mu - p)} \int_0^z t^{\mu - p - 1} h(t)dt \prec h(z).$$

Proof. For $f(z) \in \Sigma_p$ and $Re \ \mu > p$, we find from (2.28) that $F(z) \in \Sigma_p$ and

$$(2.29) (\mu - p)f(z) = \mu F(z) + zF'(z).$$

Define G(z) by

$$(2.30) z^{-p}G(z) = (1+\lambda)\frac{1}{1-2\gamma}\mathcal{F}_{p,a,c,\gamma}F(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z(\mathcal{F}_{p,a,c,\gamma}F(z))'.$$

Differentiating both sides of (2.30) with respect to z, implies (2.31)

$$zG'(z) - pG(z) = (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}(zF'(z)) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}(zF'(z))'.$$

Furthermore, it follows from (2.29)-(2.31) that

$$(2.32) (1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z) + \frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}(\mathcal{F}_{p,a,c,\gamma}f(z))' =$$

$$(1+\lambda)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}\left(\frac{\mu F(z) + zF'(z)}{\mu - p}\right)$$

$$+\frac{\lambda}{p}\frac{1}{1-2\gamma}z^{p+1}\left(\mathcal{F}_{p,a,c,\gamma}\left(\frac{\mu F(z) + zF'(z)}{\mu - p}\right)\right)'$$

$$= \frac{\mu}{\mu - p}G(z) + \frac{1}{\mu - p}\left(zG'(z) - G(z)\right) = G(z) + \frac{zG'(z)}{\mu - p}.$$

Let $f(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; h)$. Then, by (2.32),

$$G(z) + \frac{zG'(z)}{\mu - p} \prec h(z) \ (Re \ \mu > p),$$

and so it follows from Lemma $1.2~\mathrm{that}$

$$G(z) \prec \tilde{h(z)} = (\mu - p)z^{-(\mu - p)} \int_0^z t^{\mu - p - 1} h(t)dt \prec h(z).$$

Therefore, we conclude that

$$F(z) \in \mathcal{T}_p(a, c, \gamma, \lambda; \tilde{h}) \subset \mathcal{T}_p(a, c, \gamma, \lambda; h).$$

Theorem 2.11. Let $f(z) \in \Sigma_p$ and F(z) defined as in Theorem 2.10. If

$$(2.33) (1-\alpha)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}F(z) + \alpha\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z) \prec h(z) (\alpha > 0),$$

then $f(z) \in \mathcal{T}_p(a, c, \gamma, 0; \tilde{h})$, where $Re \ \mu > p$, and

$$\tilde{h}(z) = \frac{\mu - p}{\alpha} z^{-\frac{\mu - p}{\alpha}} \int_0^z t^{\frac{\mu - p}{\alpha} - 1} h(t) dt \prec h(z).$$

Proof. Define

(2.34)
$$G(z) = \frac{1}{1 - 2\gamma} z^p \mathcal{F}_{p,a,c,\gamma} F(z).$$

Then G(z) is analytic in U, with G(0) = 1, and

(2.35)
$$zG'(z) = pG(z) + \frac{1}{1 - 2\gamma} z^{p+1} (\mathcal{F}_{p,a,c,\gamma} F(z))'.$$

Making use of (2.29) and (2.33), (2.34), (2.35), implies that

$$\begin{split} &(1-\alpha)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}F(z) + \alpha\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}f(z) \\ &= (1-\alpha)\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}F(z) + \alpha\frac{1}{1-2\gamma}z^{p}\mathcal{F}_{p,a,c,\gamma}\left(\frac{\mu F(z) + zF'(z)}{\mu - p}\right) \\ &= (1-\alpha)G(z) + \alpha\frac{1}{1-2\gamma}z^{p}\left[\mathcal{F}_{p,a,c,\gamma}\frac{\mu}{\mu - p}F(z) + \mathcal{F}_{p,a,c,\gamma}(\frac{1}{\mu - p}zF'(z))\right] \\ &= (1-\alpha)G(z) + \frac{\mu\alpha}{\mu - p}G(z) + \frac{\alpha}{\mu - p}(zG'(z) - pG(z)) = G(z) + \frac{\alpha}{\mu - p}zG'(z) \prec h(z) \end{split}$$

for $Re~\mu>p$ and $\alpha>0.$ Therefore, an application of Lemma 1.2 yields the assertion of Theorem 2.11 . $\hfill\Box$

Acknowledgments

This work is supported by research development fund of Engineering and Technology College Yangtze University (No.13J0802), Natural Science Foundation of Hubei Province (No.2013CFAO053). The authors would like to thank the editors and referees for their helpful suggestions which essentially improved the presentation of this paper.

References

- [1] M. K. Aouf, New criteria for multivalent meromorphic starlike functions of order alpha, *Proc. Japan Acad. Ser. A Math. Sci.* **69** (1993), no. 3, 66–70.
- [2] M. K. Aouf, Subordination properties for a certain class of analytic functions defined by the Salagean operator, *Appl. Math. Lett.* **22** (2009), no. 10, 1581–1585.
- [3] M. K. Aouf and B. A. Frasin, Properties of some families of meromorphic multivalent functions involving certain linear operator, *Filomat* **24** (2010), no. 3, 35–54.
- [4] O. S. Kwon, A subclass of parabolic starlike and uniformly convex functions, Appl. Math. Comput. 218 (2011), no. 3, 912–918.
- [5] X. F. Li and A. P. Wang, The properties of a class of analytic and univalent functions with missing coefficients, Int. J. Math. Anal. (Ruse) 6 (2012), no. 25-28, 383-1389.
- [6] J. L. Liu, Properties of some families of meromorphic p-valent functions, Math. Japon. 52 (2000), no. 3, 425–434.

- [7] J. L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl. 259 (2001), no. 2, 566–581.
- [8] S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, Michigan Math. J. 28 (1981), no. 2, 157–171.
- [9] S. Ruscheweyh, Convolutions in geometric function theory, Les Presses de l'Université de Montréal, Montreal, 1982.
- [10] R. Singh and S. Singh, Convolution properties of a class of starlike functions, Proc. Amer. Math. Soc. 106 (1989), no. 1, 145–152.
- [11] H. M. Srivastava and S. Owa, Current Topics in analytic function theory, World Scientific Publishing Co., Inc., River Edge, 1992.
- [12] H. M. Srivastava, D. G. Yang and N. Eng Xu, Some subclasses of meromorphically multivalent functions associated with a linear operator, Appl. Math. Comput. 195 (2008), no. 1, 11–23.
- [13] B. A. Uralegaddi and C. Somanatha, Certain classes of meromorphic multivalent functions, *Tamkang J. Math.* **23** (1992), no. 3, 223–231.
- [14] D. G. Yang, Certain convolution operators for meromorphic functions, Southeast Asian Bull. Math. 25 (2001), no. 1, 175–186.
- [15] D. G. Yang and J. L. Liu, A class of meromorphically multivalent functions defined by means of a linear operator, Appl. Math. Comput. 204 (2008), no. 2, 862–871.

(Xiaofei Li) Yangtze Univ., Coll. Engn. and Technol., Xueyuan Rd, Jingzhou $434020,\ {\rm Hubei},\ {\rm China}.$

 $E ext{-}mail\ address: lxfei0828@163.com}$

(Liangpeng Xiong) Engn. and Technol. Coll., Chengdu Univ. of Tech., Xiaoba Rd, Leshan 614000, Sichuan, China.

 $E ext{-}mail\ address: xlpwxf@163.com}$